o PROFESSIONAL EXAMINATION BOARD
Phzss  Middle School Teacher Eligibility Test - 2018
17th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) is associated with retardation in various aspects of development / faera ¥ fafi q’a‘ﬁ&ﬁ YT & ﬁ'ﬁﬁ H
1. Medium Intelligence / HH Ej@

2. No Intelligence / ﬁ's‘ Tg’@ :|€[

3. Higher Intelligence / 3= §@

4. Lower Intelligence / HG Ej@

Correct Answer :-

« Lower Intelligence / g §@

2) In child centred education, what the child has to learn should be | STa-Pfea fRrem ﬁ, T P 5 AT HT%'Q, aﬂ'ﬁﬂw
3P ARC:

1. Judged through activities Afafafert & A 9

2. Judged by the scores of their test results/3b TRI&T GRUTHT & 3! &

3. Judged according to the ability, interest, capacity and previous experience of the child A= Bt tnTCl?lT, B, &dn IR s 3THT & SR
4. Judged according to the previous experience of the child A= & fUsa S RGE & SR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child CEkil tnTQHT, S, &man 3R rsa 3THT & SR

3) Child centred education typically involves: / dT¢l Ffga e & e IR w = e giar %:
1. on the spot assessments@?ﬁmﬁa?q? HAiDhT

2. no Assessments/a'ﬂ'sc W '_ﬁ:f

3. more summative assessments/3{JdH WW

4. more formative assessments /3P TAATHD HAihT

Correct Answer :-

« more formative assessments /3{{8d ITTHD Fedich1

4) Which of the following are features of progressive education? / fuafafaad P wrfafa QT&‘IT 1 ﬁ'ﬂm%"
1. Instructions based solely on prescribed text books /ﬁ%ﬂ Had ﬁﬂfﬁﬁ aréd W Ryt E}f?f %I

2. Flexibility on the topics that the student would like to learn/3 fawa R R mﬁﬁrﬁ%‘& ) EIEIERICRIEIRS] %l

3. Emphasis on lifelong learning and social skills/Sfta TEi= SHFRATT 3R QAT HIere TR SR ST

4. Emphasis on scoring good marks in examinations/TRI&T3M & 3wy 3i A TR SR Tl

Correct Answer :-

« Emphasis on lifelong learning and social skills/Sfia TEi= SIFRATT 3R QAT HIere TR SR ST
5) Performance intelligence is measured by: / 'Clﬂ'!ﬂ:l ﬁ aﬁ = a? GIRT HIUT SITdT %:
1. Verbal Ability/ TTRa &wam

2. Comprehension / THET



3. Numerical Ability / THTHD &HdT
4, Picture Arrangement / [BERERI

Correct Answer :-

« Picture Arrangement / o SR

6) "A thing can be learnt by the study of it as a totality" This statement is based on which learning theory / "U I & IHET & ©9

H 5o g A WRaT o1 FohaT 2 1" U5 HU b Rugror Riegia w smenfa §:

1. Instrumental conditioning / Egﬁfﬂ eI

2. Insight Classical conditioning/ Sfaef® ferufaf¥a EIRCNEREERIEH FATRIB Wﬁm
3. Trial and Error/ W-‘aﬁ fafd

4. Classical Conditioning/ ferRufafa EIRCISE] (_CWITW mﬁ'ﬂ)

Correct Answer :-

« Classical Conditioning/ FeRUTTSd U e (aeRicd dar=if-m)

7) The word ‘consistency’ is associated with: / qeq “HTHII” m gafea %:
1. Personality / Hfddd
2. Attitude / FIGRI

3. Intelligence / §@

4. Motivation / ORI

Correct Answer :-

« Personality / Hfadd

8) The prejudice against a person on the basis of sex of that person is WAY- e & T & SR TR, 39 wfed & fRaere

qatue (&) Goikd

1. Gender stereotype / QT Tigaadl (SR WINRAEY)
2. Gender bias / AT HEHTT (SISX TTS3M4)

3. Gender identity / e UG (Sfex SMESfeeh)

4. Gender issue / T HET (SIS HE)

Correct Answer :-

« Gender bias / SIRER AT (ﬁ?ﬂ d1g3d)

9) The smallest bone i.e. stapes in the human body is in the _____ear. /HIHd TRR A g9 BT 3@ Iy R T F - g gl
1. Inner / 3faX

2. Middle / &t &

3. None of these / E:Fﬁ I ﬁé 7-|€[

4. External / 9TgX

Correct Answer :-

. Middle /ST

10) The last stage of psychosocial development is / TS faerT &1 sifaw avur % -
1. Identity v/s. Confusion / Ugdl- §-1H YH

2. Trust v/s. Mistrust / faYI =118 Sfdyra

3. Generativity v/s. Stagnation / 3QRdl §-H dgrId



4. Integrity v/s. Despair / 3RGSdl SHH RIY

Correct Answer :-

« Integrity v/s. Despair / 3RGSdl S1H RIR

11) The study of same children over a period of time is known as study. /Wﬁ'ﬂfﬁﬂmﬁ aﬁfﬁr%ﬁmmﬁ T &
ST BI ST & U | A1 A 7

1. Longitudinal / Gﬂ%{?ﬁ (aTﬂﬂ?ﬂgﬂa)
2. Cross-sectional / yfaferds (WVW W)

3. Latitudinal / 31T (dciegsTa)
4, Experimental / PIRIRIED

Correct Answer :-

- Longitudinal / 3¢ ed (@Tiegga)

12) Which of the following is a limitation of Eclectic counselling approach? / FFrafafaa & 9 s Jgurita Wm!zfd@aﬁw
(FFAfFED HISFIT THI) B AT 82

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / S W’Q‘f?@aﬂm P ITATHSD fa=rear &
eifid B & forg srafiie S wmRierdrset &) sawadhdr gl |

2. more flexible approach of counselling / IR BT HfAH ﬁﬁﬂw EHEEaW
3. more cost effective & practical approach / 3B YT 3R TaRING DI
4. more objective & coordinated approach of counselling / wRIRf & 31 e SR whfad P

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach / 9 R} EPHI0 B} TS IR Y
Frifid B & forg srafiie pue wRmRierdrse &) Sawadhdr gl 8|

13) Which of the following is the best way the teacher can guide children with special needs in school education? / Frafafaa # Q3 om-

1 T 3 o o Rieres femerdt Rran & fadie srazasarsit aret s=if 1 ARTERH #% 9&d 87
1. Give higher challenging tasks / 3H Wmﬁ

2. Give more tests / 3{Te/@ TRT&0T &1

3. Providing support and tips / TETNT 3R JTd &1

4. Provide more homework /3@ GBI UGH BT

Correct Answer :-

« Providing support and tips / T 3R gq ol

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of needs? / ﬁaﬁﬁaﬁﬁaﬁq T URAT BT
TIGFH AT & USIIHH A FRUaH U B} SMIgHdr &1 TH ISIE0T 82

1. Esteem needs / GFTH &1 STIRIHATY
2. Self-actualization needs / 3MTH-IY DI 3{TIRGHdTd

3. Safety needs / GR&T B1 SAIDHATY
4. Love and belongingness needs / TR Td AT B HTTIHATY

Correct Answer :-

« Safety needs / GR&T D1 SAIHATY

15) Which among the following types of intelligence would be most used when trying to navigate through traffic? Fafafea 3 5

UPR Pt S BT ITANT, TraraTd & H1ead A Afaiie H 31 SR B g0 foar smeem?
1. Naturalistic intelligence / WThTddraral gf&



2. Spatial intelligence / RIS TS
3. Interpersonal intelligence / 3fdddfaId I
4. Emotional intelligence / W@@

Correct Answer :-

« Spatial intelligence / Pﬂﬁiﬁ@j@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is being used? /Qﬁ?aﬁﬁ PR TG SR D

e U R fraar 81 f5a Gediewur srggs! &1 ST farar i TeT1 82
1. Variable ratio reinforcement schedule / TR@c 1 S{Urd WUT &W
2. Intermittent reinforcement schedule / 3TeRTRI® ﬂ?ﬁﬂm \}w

3. Partial reinforcement schedule / {11 ﬁ?ﬁm 313@

4. Fixed ratio reinforcement schedule / 3T S{I0Td YeaIHR01 S

Correct Answer :-

« Fixed ratio reinforcement schedule / FIfEd 0T Yeaidror 3G

17) One of the characteristic features of a Constructivist unit of study is that: / I¢qd fﬁwm sa"ré'aﬂ TP ﬁ'ﬂ'ﬂ?ﬂ'ﬂ%’
g

1. It starts with what children know as an effective departure point for the lessons. @aﬁ RICS I m E?IT‘?[ % EEERIRED 1%1? Uh THTE!
TR fiig & =0 &1 I B

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / SITel (é?') 3R o srf (W) Eal m &Had Ay
X A IR BT SHTbE AT Bl 5 |

3. It is propagated solely through teacher instruction. /dg IIUhl Rrerep & S & wreqw § vrid fasan At %I
4. Asking questions is discouraged in the learning process. / U Y&l ST 1 ufehan 7 galenfed FRar 2

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /?Nﬂ'ﬁ RIRS I m Eﬁ?‘ﬁ % FaaueF 1%113 Th THTE!
T g & =0 1 S B

18) Reading skills can be best developed by: / U6+ PR B £l ufhar gRT G 3rest GEE Ry forar s 9w %:
1. Writing answers / I ferg

2. Playing word games /doing quizzes / ge 1 Qa1 / foel B

3. Focusing on the use of words in the text / 18 # sl & IYINT R &9 dHfad BT

4. Doing vocabulary exercises / TG 3T HRAT

Correct Answer :-

« Focusing on the use of words in the text / UT& T Y[sal & JUANT R S dhigd HeAl

19) Irrespective of the kind of impairment, all children are capable of: / Tl YR &1 sraudar & qravg, It = A gem g

1. Movement / I&
2. Hearing / {Fﬁ
3. Learning / R
4, Seeing / T

Correct Answer :-

« Learning / g



20) What are inborn patterns of behavior that are biologically determined also called? / SIdgIR & SHuITd U o Sia-Rg= &
ITER fuffia 814 ¢, 3% ag W peT ST 3:

1. 1d/YgdiH

2. Drives / §I%d

3. Instincts / Hg S T
4. Intelligence / fGHT

Correct Answer :-

« Instincts / Fgol T

21) What are the symptoms of Post- traumatic stress disorder in children? /Gl H UY-3TaTd a4 f[ABR (URe Eﬁﬁﬂi '\%’\‘I’
fSwaiidy) & wemr R 82

1. Avoiding places or people associated with the event./ ¥cHl J @ Y 1T AT Y S

2. Having to think about or say something over and over. / R-dR & Fg 1 9P aR H Tl
3. Not have an interest in other people at all. / m b= ]%@3_('1' Ty T Eﬁ:ﬂ

4. Becoming annoyed with others./ m Y RIS g

Correct Answer :-

« Avoiding places or people associated with the event./ UCHl I T{L@;’W T o S

22) What type of theory is one that proposes that development depends on things that are inherited through genes? / 5T UpR BT

Rygia ag uegd ®ear & fr e 39 Heil wr Ak wwar & it o9 & areny | 93w @2
1. A deterministic theory / T fFafdarg Rigid

2. A social theory / Teh FHTIOI RIgid

3. A nature theory / U UTdfad Rigid

4. A nurture theory / T UTAH-TIV0T RTGid

Correct Answer :-

« A nature theory / WW Jgid

23) What type of thinking is associated with creativity? / g yoR &1 Ridq '\‘]W’lﬁﬂ_ﬂ T i gar %?
1. Convergent thinking / SR O

2. Divergent thinking / 3T e

3. Insightful thinking /3ITEI® T (FTaEcHd fAfHM)

4. Transductive thinking / IR @m@%m

Correct Answer :-

« Divergent thinking / ST A

24) Who introduced the theory of Universal Grammar in language development?/ HTHT ICEanE:] q&lﬂ'\‘h’ IR F fgia &1 feam
oz fam?

1. Piaget / ot

2. Vygotsky / ans?ﬂ?aﬁ
3. Skinner / RF R

4, Chomsky / Bl

Correct Answer :-

« Chomsky / AT



25) Intelligence is a product of both and environment./ Q@TITTL Gﬁ? uuﬁﬂwaﬁ'—ﬁm Wm%l
1. Culture / W

2. Community / FHGI

3. Heredity/ 3{TIdfRrapdl

4. Society / HHIS

Correct Answer :-

« Heredity/ STafRredl

26) The Minnesota Paper Form Board test is a test which measures one’s i fRaer TR wid 1S gdier , Th
Tt 8 o fait HIATTAT R |

1. Verbal Reasoning/ e db
2. Aptitude/ TRGAT

3. Personality/ Hfada

4. English Skills / 3l pr=ra

Correct Answer :-

« Aptitude/ T

27) A student is asked to find different methods to evaluate the value of pi. This would mainly involve which of the following operahons’ /
T B &) NS & 0 &1 i $1 & e Ryl Sl ga s F R ssraa 1 o g wu d
P T TR T gRIT?

1. Evaluation / el

2. Convergent thinking / SR e
3. Divergent thinking / SR} fiaT

4. Learning / 31ferTH

Correct Answer :-

« Divergent thinking / SR R

28) Classical conditioning was developed by: / FTRIGH Hs =11 (RRUFAR¥T wgHa a1 Rty srgae) & & frads
R1 faw e fear man 8:

1. Bandura /E\IJ'USTT
2. Pavlov / TTGAId
3. Kohler / W
4. Piaget / IERIG]

Correct Answer :-

« Pavlov/ ICRIE]

29) Selecting specific stimuli through sensation is a characteristic of: / '\‘Iﬂﬁ & HIEH ﬁﬁTE G?{TW BT 99 B BT S{FW&I'UT %:
1. Attention / AU

2. Critical thinking /TIE:”%‘T‘FT

3. Concept / AYRUM

4. Perception /Eﬁﬂ

Correct Answer :-

« Perception /@U



30) Animism is the belief that everything that exists has some kind of consciousness. Which of the following does not describe the idea of
Animism in children at the pre-operational stage of development? / Wm’d qg ﬁ’H'I'\‘T % fo =it PO ot ﬁq‘d % Wﬁ frdt ypR @t
a1 31 FafafEa & @ w1 e & gd-uReaes R w® s=t o gafaare & R o1 qofq 78 awar g2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./ U S S Th Wﬁ THAA Y T W
@1 dic UgaTdT 8, W T TRRA AT P e ST |

2. A child dresses up as ‘fireman’ for a fancy-dress competition /W 3? yfaafrar & ﬁ“ﬂi’ T dd] tb—fcl'{ﬁ:f HEUH au N @?ﬂ %I
3. A high mountain will be thought of as ‘old’/ TP &4 Tdd &I "QRIT AT ST
4. A car which won’t start will be described as being ‘tired” or ‘ilI’/ Udh DR o ‘{RK:@\TW ST 3 "YHT g3 ar SR ST ST |

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / W ?‘gﬁ yfaafrar & 1%1? Uh ddT tl’TI'CR'aq HEUYH %m? _@T‘IT % |

Topic:- General Hindi (LLGH)

1) T TS P T Y W TR BT ATy
TE 3MTaTS Yox FUSIR Bigd! g3 &t

qE BT AP 1 BT TS §

1 a1 e

o1 e Ta@? e 3 aTel © BT BIg RIAGR
TR IS Y TR &

g 3t IS frarar sman @ wA S @

MRS o9 3R P Sifed a=i & oira &

G gPTEAT R

1 30 g TR F) AadHR

TSI ST § HEHAT §H TP 3-ge o

T4 TWAPR & TS S FHTA gaT 8

ST AT 8 U TS &1 Wi geT goim qr=
9 39 Trg i 8 SHeT S=uH

9 a5 =T ar

TREEP & o 61 a1 & SqST Tl

TR ATY B §% STE S el gt

TS A 3G A1 F© RRar gan

At IRer A &Y erew SuTar

FEI Y T 1T § HIADR BT W
Ff-oft 95 41 €1 2 daT & ST ATy

I8 9a & frg 6 95 e TE @

3R 7 6 R @ T S wHar ¥

T ST T IR

IR ISt AT A W o feaw ww g I B
7 3T TR B ST 1 IS B oA PR &

I faeran gt

IS AT FHST ST AR

foT g veriwr Y ygwr R U@ WM I1d v $7 Sk qarsul
W UROTT 1Y BISA §F ......... 3K 8T g, 39 Uiy A B1H-91 Usg T 22
1. 36

2. 9%

3. gd

4. R



Correct Answer :-

2) TSI TAF & 98 o U TR &A1Y St
TE SMTaT Yox FUR Hiad! g3 &t

TE G TS BT BIET UTE &

1 a1 e

7 dgd TaHR T S qTeT R BT B RIAGR
TR TS TR &

g U=t 71 Fretra s @ uri ST &

T Wd S B wied al & e &
et

7 30 TR F) AgdHR

AT AT § WEHT g3 TP 3153

T ETADTR 81 WIS P FUTS 5T 8

ST qHEA 8 GR8T TS BT NS FeT g3l [THH
S 39 T1g feman g SueT FAuA

9 a5 =i ur

TREES & oa 61 a1 & SqBT T

UROT 1Y Bl §§ SIS 3% Thell G

ST A I T 58 FRar ga

Tt o1 TS P gTew Surar

HE Y AT 1T § HIAPR BT W

F.$ 2 a5 O 6t S I 3 SHBTHIY

g 9 & forg & a5 srben 181 3

3R a5 % o & wmann <1 A @
T 1 BT IAT

IR IwST AT A W o feaw ww g AW
T 30 TR $) ST 9 S6M B o HIRT ]

I faeran =gt

IS AT THST ST AR

U TTE e @Y e R R o 9Te U ST S SaTsy|
URH: 98 Iod Tad Wa- 319 aTaT g T T 81 [hdl 82
1. BIS ITdDHR

2. Bls RRAGR

3. BIS HATH

4. PIs FABR

Correct Answer :-
. B RAER

3) G-I MO & TgH A YR TR BT 1Y Tt

TE SMTaT Yox FUR Hiad! g3 &t

TE G TS BT BIET UTE &

a1 IuwT R

1 fed TaHR T S qTeT R BT B RIAGR

TR TS TR &

7 3rueit I e smar 3 U FT@ &



TS o SR B wifed aHl & Sira

Gl gPTErT g

1 30§ WA F) daDHe

AT STeT & HTHT §3HT TP 38g o

T4 HAPR g TITE B HUTA @1 &

ST e 8 T A BT Wi el gai qr
O 39 TTg faaTan g SueT S=uA

e a7 =T ar

TRAD § SF Fo-1 T & SUPT Tl

TR AT DIl §S SCHTE S el g3t

ST A 3G 1 o AT gam

Tt g1 T B gle Surar

FEI A T T § HIAPR $T TR
pl-pfiagai § T e SHmT Y

T a1 & forg 6 a5 arben T R

3R 7 o o & T w1 wHar ¥

T ST g1 IRT

3R IHP 3T H Wt U fewe W g A ©
T 3T TR B HaT 7 I B Sl B ]

I fawaar gt

IS TSI FH AT AT

AT g ey @) vewR TR U 9 9T) U=A B 3@k ga1s¢l
U= I ) T4 §U 98 9 qHedT @ 7 A &1 1S geT garl..... ?
1. gEHE

2. aRomg

3. 9

4, A

Correct Answer :-

4) HBI TS & TgH 9 IR} TR ST A1 Ieft
IT AT YR FHAR PTua! g5 N

€ YT TS 1 Biel UTs 8

1 IS R

1 dgd TaHR WS S qTe R BT HIE RIAGR
B TP Pt TRA &

97 U=t 31 fretar aima @y w9

T Wd S B wfed al & sire &
et

T U § T B ArgD

QAT 1T § HTHdT §3HT U 3[8S o

9 HTAPR & TITE HY HUTA g1 3

ST g 8 ST TS BT NS FeT g3l [TH
S 39 TTg farTan g SueT S

9 9 e ar

TR B IF 6 TIAT 3 SHHT Tl

RO 1Y SIS §5 ST 3 gral gt



SIS & I T $© FRar gan

Tt g1 T B gTew Surar

FE W T T § HIAPR $T TR

FW- gz ol § 3o e ST AN

g ga™ & g o a5 srben 181 3

R 7 o e & T < WAt ¥

TITT T BT IAT

3R IHP 3T H ot U fewe W gAg AR ®

T 3T WR P ST S B ot FIRMT ]

I fawerar 15t

IS AT THST AT AR

3T TG werie @Y Tges R gD W aTe U= &7 I aa1syl
U= G S &1 T ST HAPR Hal & TaAT 3Tl 82
1. 91l

2. HUS

3. glgd

4, {qTHT

Correct Answer :-

5) T TS & g S U TR &1 /1Y Tt
IZ AT YR HHAR HIua! g5 N

€ I TS 1 Biel UTs 8

1 IS R

1 Ygd gah HRaw 319 aTelT R BT His R¥AGR
T TS Pt IRA &

I8 U=t Y1 frear aiman @y S @

T Wd S B wfed al & sivre &
el

T U § T HY ArgDT

QAT 1T § HTHdT §3HT TP 38S o

9 HTAPR & TS HY FUTA g1 3

ST qAEdT 8 ST TS BT NS FeT g3l [THH
S 39 T1g fETan g SueT =

W9 95 =R o1

TR B G 6 TIAT & SHPBT Tl

UROT 1Y Bl § TS 3% Thell G

SHTATH A IE 1 T RRar gam

T 9= T $) eTed SuTar

FE A TAT AT} FAPR T TR

F.3 a5 O 61 S JAT 3 SHBTHIY

g 9a & e % a5 srben 7 3

3R 95 & o & wirann < A @

TN 1 T IRT

3R IHP 3aret H St o fewe W gAg QA @
T 30 TR $) ST S6M B o HIRMT ]

I fawerar =gt



IS AT FHST ST AT

3T TG Terie @Y Tges R gD W aTe U= &7 I aa1syl

U GBT TS B TRl A 98 U 1 ba A frarar smar 32
RCICIE AR

2. GEHIA A

3. YIS HTA

4. TORIE BT 3T

Correct Answer :-

. TR B

6) TSI TS & TgH S YR TR &1 1Y Tt
IE SHTATS Yax HHER Hiaal g5 A

€ YT TS b1 Biel UTs 8

1 IuST R

1 Yqd gah FRaw 319 aTelT R BT $is R¥AGR
BT TS Pt TR &

I8 U=t Y1 frerar aima @y w9

T Wd S} B wfed al & sivTe &
el

T U § T HY ArgD

QAT 1T § HTHdT 34T U 38g o

T HTAHR & TITE HY FUTA g1 3

ST qAEAT 8 GRBT TS &1 NS FeT g3l [TH
S 39 T1g fETan g SueT U

W9 a5 =i ot

TR B IF & TAT & SHPBT Tl

RO 1Y SIS §5 ST 3 gral gt

SHTATH A IE 1 F© RRar gam

T 9= TS H) STed SuTar

FE A TAT AT} FAPR T TR

F.P 4t 75 91 61 S AT 3 SHHTHIY

g gam ¥ forg i a8 srpar et @

3R a5 % o & wimann < A @
TITT 1 T IAT

3R IHPY arraTet H N T ferarep AT IS At @
T 30 TR $) ST S B o HIRMT ]

I fawerar =gt

DT AT FHT ST AT

QTG weriw @Y Tges 1 gD W1 aTe U= &7 I qa1syl
UL = TS Bt Sl TS F 1Y AP R B AT & STt 82
1. AR

2. Tgquf

3. U9H

4. IS O WY

Correct Answer :-

CHEEERIN



7) TSI TAE & 98 o U TR ST A1Y St
TE SMTaT Yo FUR Hiad! g3 &t

TE G TS BT BIET UTE &

1 a1 e

1 dee @ e 3 aTd R BT BIg RIAGR
TR MAS Y TR &

I AUt T FAretra simar @ uri S 9

T Wd S B wfed arl & e &
et

1 30 TR F) AfgdHR

T ST § WEHT 3T TP 3155

T ETADR 81 TITS Y FUTS T5aT 8

ST JHEAT 81 Y81 TS BT WD FeT g3l [THH
S 39 T1g feman g SueT FAu
EEELEEER K

TREEP & o9 67 a1 & SqBT Tl

RO WY SIS §5 ST 3 BraT gt

ST | IR T $© Far g

Tt g1 TS P gTey Surar

HEI Y AT 1T § HIAPR BT W

F.P 2 a5 O €1 S I ] SHBTHIY

g 9 & g & a5 srben 81 3

3R 7e T fore & wrram ST wepaT &
T 1 BT IAT

IR IwST AT A W o feaew ww g AW
1 30 TR B ST S6M B ol HIRT ]

T faeran gt

IAD! AT THST AT AR

U TTE e @Y e R R o 9Te U T Sk SaTsy|
U: WAPR & A1 | $3 5 TR & aafaaal 31 3R ddbd s w182
1. 1Y T Tl BT 3R

2. 90 T IGHR URSH A aTdd BT 3R

3. T Gare®! B 3R

4. oI a1 BT 3R

Correct Answer :-

« A0 H XEH URYH - a1d B 3R

8) TBIAF & TgIH Y WK} TR $T 61U It
TE 3MTaTo JYox FUSIR Bigd! g3 &t

qE BT A 1 BT TS §

1 3T R

o1 e Tee? e 3 aTel © BT BIg RIAGR
TR S Y TR

% St et Reretran aimar 2 T wre @

MRS o9 3R P wifed ai & oira &

Gl gD T e



T 3T B TR B AgH

QAT 1T § HESHdT 53T TP 38g o

9 HTAPR & TS HY FUTA a1 3

ST qAEdT 8 GRST TS BT NS FeT g3l [TH
S 39 T1g fETan g SueT S

w9 9 =R ur

TR B oIF 6 TA1 8 SHPHT Tl

RO 1Y SIS § ST 3 gral gait

SIS H IE H1 T RRar gam

aft g1 T $I gTew Surar

TE A T SATAT § TAPR BT @R
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1. GlEOTTRAT %
2.9 &
3. A &

4, A TRAT &
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THE el T, Pias A IR el 8171 8, PUS Ad 8 od &1 309 TR R BIUS I, 98 fFd o1 371 781 Tra iR 3T S & forw fF<ft +1
WETIH Y Bt | T e gty B, fbg dewuar @ 9 9 59 3890 5 Pt A oo ou Hied 78 71 usd ot ag ¥ Fias o1 O 959 YR ¥ I9F ¥ T
W, W P Earel IR 3yar IR W F P FUs! & U 50 9 Bas F A0 T Wig HId &1 Famy @il o 4gt § g g A & sva-i & g a8t
;nagaﬁ;!ga%mgﬁaﬁm%ﬁnﬁwﬁaﬂasm THTY 1B BT T 3T WY, df S IR Heb? 93 a1 G- 81 91d &1 W &1, FIas &1 91 dd
L:C) EIGIE|

T F frIR oIT Pras TESR SUF TS 81 9 §, a9 3 fras Uay fiEd ¥ 1 Wrer TR & o9 I8 sl § ¥R USdl ¥, 99 Y@ 5Y Wi S e usa
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3. QEEUFS W
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Topic:- General Sanskrit(L2GS)
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